ERLNZ / Components

No. £ / Part name = / Pcs #'E / Material - RELIE / Color-Finish
1 IL—L4 4 T ILSIRHF A6063S-T5 SIWR— TS99« TILRA & HUTEE
Frame Extruded aluminium A6063S-T5 Silver , black = Anodized & clear coated
2 a—F—2JAavy 4 ABSHiHE UL94HB SAMTL—, TS5vs
Corner block ABS UL94HB Light gray , Black
3 3—F—3+v 7 / Blind plug 8 ISRkY / TPE 54T L—, T5v% / Light gray , Black
4 INAAFHINTR)L / Slide panel 1 7 JLEHR / Aluminium A1100P t=1.5 D IIN—=TF LA / Silver = Anodized
7 ILEHR / Aluminium A1100P t=1.5 J5v% « % / Black * Painted
5 RLCLEH/NRIL / Screwed panel 1 7 ILEHR / Aluminium A1100P t=1.5 S JLIN—=TF )L AL / Silver * Anodized
& 7 ILEFR / Aluminium A1100P t=1.5 T5v% « B% / Black * Painted
6 MAE R (M4 x 15 FR) 16 E7S ={foOir—k
Screw (M4 - 15 Pan head) Steel Trivalent chromate
7 HUHE R (M3 x 5 EE{s+3h.m) 4 &% —wlr)LAvE | ZmE/RA—+
Screw (M3 - 5 Slotted raised countersunk) Steel Nickel plated , Black trivalent chromate
)
5 &
- &, g D
S
<> 7
)
/ 6
®
g
AN Q Z35.©
®
)
&2 < A
| ﬁ ® ﬁ
& S 3
3 &y
2 )
1
DR 2 : )
mn/Title A —1
- = >
: [TAKACHI] #HEHINFEHTE v rO—LRYH R O© L
B (R ERED) / Color Type (End of product number(1) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
Eel=] S — —_ — E3
AL / Code AL )l/ / Panel v A / Freme - d_ / Corner 7 &8/ Approved #:[X/Checked #X/Created FIFE /Product number RE/Scale
GS < )L7S— / Silver < )LsN— / Silver SA4kJ'L— / Light gray 1:2.5
BS 2 )Ls8— / Silver 2 JLsN—/ Silver 735v% / Black . " FC8-25-15L1
B X < )LsS— / Silver 759% / Black 75wv7% / Black 1R KT WL - 1/ 7
BB 95v% / Black I35 / Black 55574 / Black fERLE/Date 2020/12/03




5 $R , NfR[E / External View , Internal View

JL—L148] / Framel side

L —L348] / Frame3 side

150
> —

|

|

|

|

|

|

|

B I B |

|

|

|

|

|

|

|

a

TL—L218] / Frame?2 side

A-A(1:25)
INAPAFHFINRILEB ST L / Slide panel Max dim. 210

B Ti% / Max dim. 204

REIEH/NRILERT % / Screwed panel Max dim. 204

38.2

L —L48] / Frame4 side

75.4

<Fi% / Slide panel Max dim. 110

2h

%
B#~tiE / Max dim. 104

INARAFHINKILE

B-B(1:25)

38.2

H#~T% / Max dim. 69

RCIESH/SRILE % / Screwed panel Max dim. 104

=

)

C : 7L —LY¥LKE / Frame cross—section

+vkL—JL / Nut rail

ASAMLFyhRiE
AMFEATav i RSAKF Y FZ-3 #ANSENHEEET,
Groove for slide nut
Slide nut FZ-3 (sold separately as optional parts) can be inserted.

BRARUINTFEHITE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
arvka—JLARYIR
ALUMINIUM CONTROL BOX

o]

752/ Approved

#%[X/Checked

XiI

#1[X]/Created

A1l

RIE /Product number

FC8-25-15[0]

RE/Scale
1:2.5

{ERL B /Date 2017/07/19




4.05
1.2

8.7

18.1

1.65

18.1

19.7

4 13.7
8.2

)

(S2
1.8
<
<t
~
5.7
N
G

(=
14.7

FvkL—JL / Nut rail

2-M3

JL—.Ls1 / Framel

204
,f:'J
N~ — |
<
™~
©
[fp]
7 - "' |
Q,
5
mn/Title
TAKACHI| #RARHINFERTE TIL— L1 @ ‘:l
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame1
752/ Approved & /Checked #1[X]/Created RIE /Product number RIE/Scale
H75.4 - W250 115
XL w1l 3 7
e B /Date 2017/07/19




JL—L2 / Frame2

mn/Title
TAKACHI| #RARHINFERTE SL—1a2 @ ‘:l
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame?2
7K ER/ Approved #%[X|/Checked #X/Created FIZ /Product number RE/Scale
H75.4 - W250 115
T i
Xi Al 4/ 7

{ERL B /Date 2017/07/19




18.1

18.1

8.7

8.7

4.05

4.5

1.2

1.65

25

19.7

4 137

8.2

22.7

14.7

1.8

5.7

14.7

74.4

F+wkL—JL / Nut rail

2-M3

4-M4

56.74

94

(0
L

JL—.L3 / Frame3

104

5

mnda/Title
TAKACHI| #RRutahFEMITE T — 13 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame3
752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
H75.4 - D150 I
KL AN 5 /7

{YER B /Date 2017/07/19




JL—.L\4 / Frame4

é,ﬂ

’\\9 - -
-/fb _—————
QF

mmd/Title
MR SHINTEHTE SL— L4 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame4
752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
H75.4 - D150 I
KT L 6 / 7
1R H/Date 2017/07/19




s

% / Max dim. 110

~
4

BT

N

% / Max dim. 104

N
4,

BT

INAAFH I8 IL / Slide panel

BT %k / Max dim. 210 15 221.9

fRE€ES —MA

Surface protective film side

2]
~
/\FJLIRE/Panel Frontside JINTJLEEE /Panel Backside
RALCIEH/AR)L / Screwed panel
221.5
B h~ti% / Max dim. 204 15 194 4-24.9
(o o) 0 g )
RE—MMA
Surface protective film side
L2~
N =
_ © o ) L © o )
INAJLFRE /Panel Frontside J\ZRJLEE /Panel Backside
mn/Title
TAKACHI] HARHINFEHRIE AT 97 () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
72/ Approved & /Checked #1[X]/Created FIF /Product number RE/Scale
W250 - D150 1:2
iR KiL w 7 /7
e B /Date 2020/07/14




